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!����β>Ε�Νχ>Ε�Νχ>Ε�ΝβΝ7�7

��������∀
	��Κ�����	�Ν8��>��	
�����������	�	�
�������	�ιδ��������
��
��� �����
 � ���
�������� ���� �	�	�
������ � �	
∀ �������� � ���� ��	��� ��/���� ���
	�	�
�������	�µδ:
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!����β!>�9χ�!>�9
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��������∀
	��Κ�����	�Ν8��>��	
�����������	�	�
�������	�ιδ��������
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��� �����
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�������� ���� �	�	�
������ � �	
∀ �������� � ���� ��	��� ��/���� ���
	�	�
�������	�µδ:
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7�0��	�χ7Λ	��
�χ7�	

�
!����β!>�9χ�!>�9χ�!>�9
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��������∀
	��Κ�����	�7Ε9��>��	
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� � �� !∀# � �∃ � �� %� � %� � �� #&! �� &! &∋
# � �� (!∀ � �∃ ∀� �� %� � %� � #! #&∀ ∋∃ &! (( �
∀ #� �� (#� � �∃ !� �� %� � %� � #� #&∀ &∋ &! ∀∃ �
! � �� &%! � �∃ #� �� %� � %� � �& #&∀ &∀ &∀ �∃
( � �∋ ∋�∃ � �∃ ∀� �� %� � %� � #! #&∀ %� &! &�
% � �� !∀∃ � �∃ ∀� �� %� � %� � #! #&∀ !∃ &! �(
& � �� �∃# � �∃ ∀� �� %� � %� � #! #&∀ ∀( &! #∃
∃ � �� �#! � �∃ ∀� �� %� � %� � #! #&∀ #∀ &! #�
∋ � �∋ ∃#� � �∃ ∀� �� %� � %� � #! #&# �� &! ∀∋
� � �∋ ∃∀∀ � �∃ ∀� �� %� � %� � #! #&# ∋∃ &! #(
#� � �∋ !%� � �∃ ∀� �� %� � %� � #! #&# ∃( &! !�
## � �∃ ��∃ � �∃ ∀� �� %� � %� � #! #&# &# &! ∃#
#∀ � �∃ (!∃ � �∃ ∀� �� %� � %� � #! #&# (� &( �%
#! � �∃ �%∋ � �∃ ∀� �� %� � %� � #! #&# !& &( !�
#( � �& ∃�� � �∃ ∀� �� %� � %� � #! #&# ∀( &( %!
#% � �& %%∋ � �∃ ∀� �� %� � %� � #! #&# ## &( %%
#& � �% ∋∃# � �∃ ∀� �� %� � %� � #! #&� �∋ &% ##
#∃ � �% #�∃ � �∃ ∀� �� %� � %� � #! #&� �∋ &% ∃�
#∋ � �( &!∃ � �∃ ∀� �� %� � %� � #! #&� ∋& && ∀∀
#� � �( ∀(∀ � �∃ ∀� �� %� � %� � #! #&� ∃! && (�
∀� � �! &&� � �∃ ∀� �� %� � %� � #! #&� &# && �%
∀# � �! �∃∋ � �∃ ∀� �� %� � %� � #! #&� (∋ &∃ (�
∀∀ � �∀ #∋∋ � �∃ ∀� �� %� � %� � #! #&� !% &∋ #∃
∀! � �# %&% � �∃ ∀� �� %� � %� � #! #&� ∀! &∋ &&
∀( � �� �!& � �∃ ∀� �� %� � %� � #! #&� #� &� #∃
∀% � �� %%∋ � �∃ ∀� �� %� � %� � #! #%� �∋ &� (∀
∀& � �� #&∋ � �∃ ∀� �� %� � %� � #! #%� ∋% &� &∋
∀∃ � ∋� ∃!# � �∃ ∀� �� %� � %� � #! #%� ∃∀ &� ��
∀∋ � ∋� !∋∋ � �∃ ∀� �� %� � %� � #! #%� &� ∃� ∀#
∀� � ∋∋ �∋( � �∃ ∀� �� %� � %� � #! #%� (∃ ∃� (�
!� � ∋∋ %�∃ � �∃ ∀� �� %� � %� � #! #%� !% ∃� ∋(
!# � ∋∋ (∀! � �∃ ∀� �� %� � %� � #! #%� ∀∀ ∃� ∋�
!∀ � ∋∃ ∀�� � �∃ ∀� �� %� � %� � #! #%� �� ∃# ∋�
!! � ∋& &�( � �∃ ∀� �� %� � %� � #! #%∋ �∃ ∃∀ ∀∃
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!( � ∋& %�∀ � �∃ ∀� �� %� � %� � #! #%∋ ∋( ∃∀ !(
!% � ∋& ∀## � �∃ ∀� �� %� � %� � #! #%∋ ∃# ∃∀ %�
!& � ∋( ∋&∋ � �∃ ∀� �� %� � %� � #! #%∋ %� ∃! ∃∀ 
���3 �
!∃ � ∋% �(& � �∃ ∀� �� %� � %� � #! #%∋ (& ∃! (∀
!∋ � ∋% !∋( � �∃ ∀� �� %� � %� � #! #%∋ !( ∃∀ �%
!� � ∋% ∀∃∋ � �∃ ∀� �� %� � %� � #! #%∋ ∀# ∃∀ �!
(� � ∋( �## � �∃ ∀� �� %� � %� � #! #%∋ �∋ ∃! #∃
(# � ∋% !∋∀ � �∃ ∀� �� %� � %� � #! #%∃ �& ∃∀ %∋
(∀ � ∋% ∋∃∃ � �∃ ∀� �� %� � %� � #! #%∃ ∋! ∃# �&
(! � ∋% !�# � �∃ ∀� �� %� � %� � #! #%∃ ∃# ∃∀ !∀
(( � ∋∃ �∀! � �∃ ∀� �� %� � %� � #! #%∃ %∋ ∃� %&
(% � ∋∃ #%( � �∃ ∀� �� %� � %� � #! #%∃ (% ∃� !�
(& � ∋∋ �#∀ � �∃ ∀� �� %� � %� � #! #%∃ !! &� !∀
(∃ � ∋∋ !(� � �∃ ∀� �� %� � %� � #! #%∃ ∀� &∋ ∋%
(∋ � ∋� �#! � �∃ ∀� �� %� � %� � #! #%∃ �∋ &∋ �&
(� � ∋� �!! � �∃ ∀� �� %� � %� � #! #%& �% &∃ �∀
%� � �� &∃& � �∃ ∀� �� %� � %� � #! #%& ∋∀ && #%
%# � �# %#& � �∃ ∀� �� %� � %� � #! #%& ∃� &% #∋
%∀ � �∀ &&∃ � �∃ ∀� �� %� � %� � #! #%& %∃ &! �#
%! � �! #!� � �∃ ∀� �� %� � %� � #! #%& (% &! !#
%( � �! �∀� � �∃ ∀� �� %� � %� � #! #%& !∀ &∀ (�
%% � �% �%% � �∃ ∀� �� %� � %� � #! #%& #� &# #(
%& � �% (!� � �∃ ∀� �� %� � %� � #! #%& �∃ &� &!
%∃ � �& #∃! � �∃ ∀� �� %� � %� � #! #%% �( %� ∃∃
%∋ � �∃ ∋(� � �∃ ∀� �� %� � %� � #! #%% ∋∀ %∃ �∃
%� � �∃ ∋(� � �∃ ∀� �� %� � %� � #! #%% &� %∃ ∋%
&� � �∋ &%! � �∃ ∀� �� %� � %� � #! #%% %& %& �#
&# � �� (�� � �∃ ∀� �� %� � %� � #! #%% (( %& �(
&∀ � #�� !�� � �∃ ∀� �� %� � %� � #! #%% !# %( �#
&! � #�# ∀∃∀ � �∃ ∀� �� %� � %� � #! #%% #� %! �# �∀∀�!� �
&( � #�∀ ∋&# � �∃ ∀� �� %� � %� � #! #%% �& %∀ ∀�
&% � #�! &�∀ � �∃ ∀� �� %� � %� � #! #%( �! %# !!
&& � #�! ∃&( � �∃ ∀� �� %� � %� � #! #%( ∋# %# �(
&∃ � #�! ∃&∀ � �∃ ∀� �� %� � %� � #! #%( &∋ %� �∀
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&∋ � #�( %#� � �∃ ∀� �� %� � %� � #! #%( %& %� �(
&� � #�% #%� � �∃ ∀� �� %� � %� � #! #%( (! (� ∀∃ �∀∀�!� �
∃� � #�% ((∋ � �∃ ∀� �� %� � %� � #! #%( !� (∋ ∋&
∃# � #�% ∀∃� � �∃ ∀� �� %� � %� � #! #%( #∋ (∋ �#
∃∀ � #�% %#� � �∃ ∀� �� %� � %� � #! #%( �% (∋ %!
∃! � #�& ##% � �∃ ∀� �� %� � %� � #! #%! �! (∃ ∋#
∃( � #�& ∀&( � �∃ ∀� �� %� � %� � #! #%! ∋� (∃ %(
∃% � #�& &(! � �∃ ∀� �� %� � %� � #! #%! &∃ (∃ �!
∃& � #�∃ �!& � �∃ ∀� �� %� � %� � #! #%! %% (& %#
∃∃ � #�∃ #∀� � �∃ ∀� �� %� � %� � #! #%! (∀ (& !�
∃∋ � #�∃ %(( � �∃ ∀� �� %� � %� � #! #%! !� (% ∃%
∃� � #�∃ ∋∋∋ � �∃ ∀� �� %� � %� � #! #%! #∃ (% ∀∋
∋� � #�∋ !%� � �∃ ∀� �� %� � %� � #! #%! �( (( &∋
∋# � #�∋ %�∀ � �∃ ∀� �� %� � %� � #! #%∀ �∀ (( !!
∋∀ � #�∋ !∀% � �∃ ∀� �� %� � %� � #! #%∀ ∃� (( (∃
∋! � #�∋ �&( � �∃ ∀� �� %� � %� � #! #%∀ &∃ (! ∃�
∋( � #�� ∀�� � �∃ ∀� �� %� � %� � #! #%∀ %( (! !!
∋% � #�� #∃( � �∃ ∀� �� %� � %� � #! #%∀ (# (! ∀(
∋& � #�� ∀�( � �∃ ∀� �� %� � %� � #! #%∀ ∀� (! �∋
∋∃ � #�� %�! � �∃ ∀� �� %� � %� � #! #%∀ #& (∀ %∃
∋∋ � #�� �∀( � �∃ ∀� �� %� � %� � #! #%∀ �( (∀ ##
∋� � ##� ∀&∋ � �∃ ∀� �� %� � %� � #! #%# �# (# &(
�� � ##� %%� � �∃ ∀� �� %� � %� � #! #%# ∃∋ (# ∀∀
�# � ##� �#� � �∃ ∀� �� %� � %� � #! #%# && (� ∃(
�∀ � ### ∀&∋ � �∃ ∀� �� %� � %� � #! #%# %! (� ∀&
�! � ### (∃∋ � �∃ ∀� �� %� � %� � #! #%# (� !� �!
�( � ### %∋! � �∃ ∀� �� %� � %� � #! #%# ∀∋ !� ∃�
�% � ### ∋�( � �∃ ∀� �� %� � %� � #! #%# #% !� !%
�& � ### �∋( � �∃ ∀� �� %� � %� � #! #%# �! !� �(
�∃ � ### ∀## � �∃ ∀� �� %� � %� � #! #%� �� !� &�
�∋ � ##∀ (!∃ � �∃ ∀� �� %� � %� � #! #%� ∃∃ !∋ !(
�� � ##∀ &(% � �∃ ∀� �� %� � %� � #! #%� &% !∋ ��

#�� � ##∀ ∋∃( � �∃ ∀� �� %� � %� � #! #%� %∀ !∃ &%
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#�# � ##! #�∃ � �∃ ∀� �� %� � %� � #! #%� (� !∃ ∀�
#�∀ � ##! ∃(∀ � �∃ ∀� �� %� � %� � #! #%� ∀∃ !& %!
#�! � ##! %∃∀ � �∃ ∀� �� %� � %� � #! #%� #( !& %∃
#�( � ##! ∋&! � �∃ ∀� �� %� � %� � #! #%� �∀ !& #&
#�% � ##( ∀#∀ � �∃ ∀� �� %� � %� � #! #(� ∋� !% &∋
#�& � ##( &�∀ � �∃ ∀� �� %� � %� � #! #(� ∃∃ !% #&
#�∃ � ##% #!∀ � �∃ ∀� �� %� � %� � #! #(� &( !( %#
#�∋ � ##% �∀% � �∃ ∀� �� %� � %� � #! #(� %# !( (�
#�� � ##% %&∀ � �∃ ∀� �� %� � %� � #! #(� !� !! ∋!
##� � ##% ∃!# � �∃ ∀� �� %� � %� � #! #(� ∀& !! %!
### � ##% !&( � �∃ ∀� �� %� � %� � #! #(� #( !! ∃∃
##∀ � ##& ∀&& � �∃ ∀� �� %� � %� � #! #(� �# !∀ ∃(
##! � ##& !%! � �∃ ∀� �� %� � %� � #! #(∋ ∋∋ !∀ %!
##( � ##& %#& � �∃ ∀� �� %� � %� � #! #(∋ ∃& !∀ ∀(
##% � ##& %∀∋ � �∃ ∀� �� %� � %� � #! #(∋ &! !∀ #�
##& � ##& %&� � �∃ ∀� �� %� � %� � #! #(∋ %# !# �(
##∃ � ##& %∋& � �∃ ∀� �� %� � %� � #! #(∋ !∋ !# ∃� 
�����
 �
##∋ � ##& !%( � �∃ ∀� �� %� � %� � #! #(∋ ∀% !# ��
##� � ##& #∀# � �∃ ∀� �� %� � %� � #! #(∋ #! !∀ �#
#∀� � ##% ∋∋∋ � �∃ ∀� �� %� � %� � #! #(∋ �� !∀ ##
#∀# � ##% (&� � �∃ ∀� �� %� � %� � #! #(∃ ∋∋ !∀ (#
#∀∀ � ##% #&# � �∃ ∀� �� %� � %� � #! #(∃ ∃% !∀ %�
#∀! � ##( !∃& � �∃ ∀� �� %� � %� � #! #(∃ &∀ !! ∀%
#∀( � ##! &∃∀ � �∃ ∀� �� %� � %� � #! #(∃ %� !! ∋!
#∀% � ##! !�∋ � �∃ ∀� �� %� � %� � #! #(∃ !∃ !! �∃
#∀& � ##! ∀#∀ � �∃ ∀� �� %� � %� � #! #(∃ ∀% !( �!
#∀∃ � ##! ��& � �∃ ∀� �� %� � %� � #! #(∃ #∀ !( �∀
#∀∋ � ##∀ �∀∃ � �∃ ∀� �� %� � %� � #! #(& �� !( �∃
#∀� � ##∀ ∃%∀ � �∃ ∀� �� %� � %� � #! #(& ∋∃ !( #∀
#!� � ##∀ ∃∋∃ � �∃ ∀� �� %� � %� � #! #(& ∃( !! �%
#!# � ##∀ ∋�% � �∃ ∀� �� %� � %� � #! #(& &∀ !! ∋#
#!∀ � ##! ∀!∃ � �∃ ∀� �� %� � %� � #! #(& (� !! ∀%
#!! � ##∀ �∃� � �∃ ∀� �� %� � %� � #! #(& !& !! !�
#!( � ##∀ &∋! � �∃ ∀� �� %� � %� � #! #(& ∀( !! %%
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#!% � ##! !�∃ � �∃ ∀� �� %� � %� � #! #(& ## !∀ ∃#
#!& � ##∀ ∀&� � �∃ ∀� �� %� � %� � #! #(% �� !! ∃∀
#!∃ � ### �!∀ � �∃ ∀� �� %� � %� � #! #(% ∋& !! �! �∀∀�!� �
#!∋ � ### !!! � �∃ ∀� �� %� � %� � #! #(% ∃! !( (�
#!� � ### �∋� � �∃ ∀� �� %� � %� � #! #(% &# !! &!
#(� � #�� %∀� � �∃ ∀� �� %� � %� � #! #(% (∋ !% �&
#(# � #�� %∀� � �∃ ∀� �� %� � %� � #! #(% !& !% ∋(
#(∀ � #�� &∋( � �∃ ∀� �� %� � %� � #! #(% ∀! !% %%
#(! � #�∋ ∋∋� � �∃ ∀� �� %� � %� � #! #(% #� !& ∀#
#(( � #�∋ ∀∃∃ � �∃ ∀� �� %� � %� � #! #(( �∋ !& ∃�
#(% � #�∃ %!� � �∃ ∀� �� %� � %� � #! #(( ∋% !∃ !#
#(& � #�& ∋∀� � �∃ ∀� �� %� � %� � #! #(( ∃! !∃ ��
#(∃ � #�& #�∃ � �∃ ∀� �� %� � %� � #! #(( &� !∋ (�
#(∋ � #�% !!� � �∃ ∀� �� %� � %� � #! #(( (∃ !� #! �∀∀�!� �
#(� � #�% �#% � �∃ ∀� �� %� � %� � #! #(( !% !∋ (!
#%� � #�( %�# � �∃ ∀� �� %� � %� � #! #(( ∀∀ !� ∃∀
#%# � #�( ∀(! � �∃ ∀� �� %� � %� � #! #(( #� !� ∋%
#%∀ � #�! (�! � �∃ ∀� �� %� � %� � #! #(! �∃ (� (∋
#%! � #�! ��% � �∃ ∀� �� %� � %� � #! #(! ∋( (� ∋(
#%( � #�∀ ∃∀# � �∃ ∀� �� %� � %� � #! #(! ∃∀ (# ��
#%( % #�∀ &∋� � �∃ % �� %� � %� � �! #(! &� (# �# �(%����∀∀�!� �
#%( #( ∃ #�∀ !�� � �∃ � ∃� %� � %� � �& #(! &∀ (# !∀
#%% � #�∀ ��∀ � �∃ % !� %� � %� � �! #(! %� (� &�
#%% ∃ ∀ #�! #&� � �∃ ∃ ∀� %� � %� � �% #(! %% (� !∋
#%% #∀ #�# ��( � �∃ ( ∋� %� � %� � �! #(! %∀ (# &# �(% �
#%& � #�# ∀#∀ � �∃ ∋ �� %� � %� � �% #(! (& (∀ ∀%
#%& #& ∀ �� %∃& � �∃ #& ∀� %� � %� � #� #(! !& (! ∃�
#%∃ � #�∀ ∃�� � �∃ ! ∋� %� � %� � �∀ #(! !( (� &(
#%∃ & % #�∀ ∋∋! � �∃ & %� %� � %� � �( #(! !� (� (#
#%∃ � % �� #�� � �∃ ! �� %� � %� � �∀ #(! ∀∋ (( ��
#%∃ #& �� ∀∀# � �∃ & %� %� � %� � �( #(! ∀( (( �∀ ������
����3 �
#%∋ � �� %&# � �∃ ( �� %� � %� � �! #(! ∀# (! &%
#%� � #�� ∀&% � �∃ ∀� �� %� � %� � #! #(! �� (∀ ∋∀
#&� � #�# �∃� � �∃ ∀� �� %� � %� � #! #(∀ �& (# ∋∋
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#&# � #�# ∋&% � �∃ ∀� �� %� � %� � #! #(∀ ∋! (� �∃
#&∀ � #�∀ (∋& � �∃ ∀� �� %� � %� � #! #(∀ ∃# (� ∀∀
#&! � #�∀ �#! � �∃ ∀� �� %� � %� � #! #(∀ %∋ !� &∃
#&( � #�! ∀&∀ � �∃ ∀� �� %� � %� � #! #(∀ (& !� #�
#&% � #�! &#! � �∃ ∀� �� %� � %� � #! #(∀ !! !∋ ∃∀
#&& � #�% ∋%∃ � �∃ ∀� �� %� � %� � #! #(∀ ∀� !& !%
#&∃ � #�% %�� � �∃ ∀� �� %� � %� � #! #(∀ �∋ !& %∋
#&∋ � #�& !�& � �∃ ∀� �� %� � %� � #! #(# �% !% &%
#&� � #�∃ ��% � �∃ ∀� �� %� � %� � #! #(# ∋! !( ∋∀
#∃� � #�∃ (!∀ � �∃ ∀� �� %� � %� � #! #(# ∃� !( ∀∃
#∃# � #�∋ �&( � �∃ ∀� �� %� � %� � #! #(# %∃ !! %#
#∃∀ � #�∋ !#! � �∃ ∀� �� %� � %� � #! #(# (% !! #(
#∃! � #�� (�∀ � �∃ ∀� �� %� � %� � #! #(# !∀ !# ∋!
#∃( � #�� (�∀ � �∃ ∀� �� %� � %� � #! #(# ∀� !# ∃�
#∃% � #�∋ &∋& � �∃ ∀� �� %� � %� � #! #(# �∃ !∀ !∋
#∃& � #�� &∀% � �∃ ∀� �� %� � %� � #! #(� �( !# !∀
#∃∃ � #�� ∃#∋ � �∃ ∀� �� %� � %� � #! #(� ∋∀ !# #�
#∃∋ � ##� &&∃ � �∃ ∀� �� %� � %� � #! #(� &� !� �!
#∃� � ### ∃%! � �∃ ∀� �� %� � %� � #! #(� %∃ ∀∋ ∋#
#∋� � ##∀ &�! � �∃ ∀� �� %� � %� � #! #(� (( ∀∃ ∋(
#∋# � ##! (∃� � �∃ ∀� �� %� � %� � #! #(� !# ∀& ∋(
#∋∀ � ##( (!# � �∃ ∀� �� %� � %� � #! #(� #� ∀% ∃&
#∋! � ##% !∋∀ � �∃ ∀� �� %� � %� � #! #(� �& ∀( &∋
#∋( � ##& ∃∋� � �∃ ∀� �� %� � %� � #! #!� �( ∀! #%
#∋% � ##∃ ∃#∀ � �∃ ∀� �� %� � %� � #! #!� ∋# ∀∀ #�
#∋% #� ##∋ %∀∋ � �∃ #� �� %� � %� � �& #!� ∃% ∀# ∀∀ 
�����
 �
#∋& � ##∋ (#! � �∃ #� �� %� � %� � �& #!� &∋ ∀# ∀∃
#∋∃ � ##∃ !#( � �∃ ∀� �� %� � %� � #! #!� %& ∀∀ ∀(
#∋∋ � ##∃ #∃% � �∃ ∀� �� %� � %� � #! #!� (! ∀∀ ∀&
#∋� � ##∃ !#∋ � �∃ ∀� �� %� � %� � #! #!� !# ∀# ��
#�� � ##∃ (∀% � �∃ ∀� �� %� � %� � #! #!� #∋ ∀# ∃%
#�# � ##∃ !(� � �∃ ∀� �� %� � %� � #! #!� �% ∀# ∃�
#�∀ � ##∃ !∃! � �∃ ∀� �� %� � %� � #! #!∋ �! ∀# %%
#�! � ##∃ #�% � �∃ ∀� �� %� � %� � #! #!∋ ∋� ∀# ∃�
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#�( � ##∃ #(� � �∃ ∀� �� %� � %� � #! #!∋ &∋ ∀# %(
#�% � ##& ∋(∋ � �∃ ∀� �� %� � %� � #! #!∋ %% ∀# ∃�
#�& � ##& (#∋ � �∃ ∀� �� %� � %� � #! #!∋ (∀ ∀∀ �#
#�∃ � ##% �#∋ � �∃ ∀� �� %� � %� � #! #!∋ !� ∀∀ !∋
#�∋ � ##( &∀∃ � �∃ ∀� �� %� � %� � #! #!∋ #∃ ∀! %(
#�� � ##! ∋!% � �∃ ∀� �� %� � %� � #! #!∋ �% ∀( ∀#
∀�� � ##! ∋(∃ � �∃ ∀� �� %� � %� � #! #!∃ �∀ ∀( �∃
∀�# � ##! ∃#� � �∃ ∀� �� %� � %� � #! #!∃ ∃� ∀( �∃
∀�∀ � ##! %�( � �∃ ∀� �� %� � %� � #! #!∃ &∃ ∀( #&
∀�! � ##! #∋( � �∃ ∀� �� %� � %� � #! #!∃ %( ∀( !&
∀�( � ##! #&� � �∃ ∀� �� %� � %� � #! #!∃ (∀ ∀( ∀&
∀�% � ##! #∃∃ � �∃ ∀� �� %� � %� � #! #!∃ ∀� ∀( ##
∀�& � ##! �!∋ � �∃ ∀� �� %� � %� � #! #!∃ #& ∀( #!
∀�∃ � ##∀ �%# � �∃ ∀� �� %� � %� � #! #!∃ �( ∀( ��
∀�∋ � ##∀ &!∃ � �∃ ∀� �� %� � %� � #! #!& �# ∀( ∀∃
∀�� � ##∀ &&% � �∃ ∀� �� %� � %� � #! #!& ∃� ∀( #∀
∀#� � ##∀ (∋∀ � �∃ ∀� �� %� � %� � #! #!& && ∀( #∋
∀## � ##∀ !(� � �∃ ∀� �� %� � %� � #! #!& %! ∀( #�
∀#∀ � ##∀ !&� � �∃ ∀� �� %� � %� � #! #!& (# ∀( �(
∀#! � ### �∃! � �∃ ∀� �� %� � %� � #! #!& ∀∋ ∀( !#
∀#( � ### &(# � �∃ ∀� �� %� � %� � #! #!& #& ∀( %#
∀#% � ### �(∋ � �∃ ∀� �� %� � %� � #! #!& �! ∀( �∋
∀#& � ##� �%! � �∃ ∀� �� %� � %� � #! #!% �� ∀% ∋%
∀#∃ � #�� (�∀ � �∃ ∀� �� %� � %� � #! #!% ∃∋ ∀& !∃
∀#∋ � #�∋ !∀% � �∃ ∀� �� %� � %� � #! #!% &% ∀∃ !! 
����3 �
∀#� � #�∋ ∀�& � �∃ ∀� �� %� � %� � #! #!% %∀ ∀∃ ∀!
∀∀� � #�∋ ∋!∀ � �∃ ∀� �� %� � %� � #! #!% (� ∀& %∃
∀∀# � #�� ∀∀∃ � �∃ ∀� �� %� � %� � #! #!% ∀∃ ∀& �%
∀∀∀ � #�� %∃& � �∃ ∀� �� %� � %� � #! #!% #% ∀% %∃
∀∀! � #�� (&� � �∃ ∀� �� %� � %� � #! #!% �∀ ∀% %&
∀∀! #! (& #�∋ (∃� � �∃ #! (& %� � %� � �∋ #!( �( ∀& (∃ �∀∀�!����
�����
 �
∀∀( � #�∃ &∀� � �∃ & %( %� � %� � �( #!( ∋� ∀∃ ∀∃
∀∀% � #�& &∋∃ � �∃ ∀� �� %� � %� � #! #!( ∃∃ ∀∋ �∋
∀∀& � #�( &&% � �∃ ∀� �� %� � %� � #! #!( &( ∀� �∋
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∀∀∃ � #�( ∀!! � �∃ ∀� �� %� � %� � #! #!( %∀ !� ∀∋ 
����3 �
∀∀∋ � #�% ∀�! � �∃ ∀� �� %� � %� � #! #!( !� ∀� #� �(%���
�����
 �
∀∀� � #�( ��� � �∃ ∀� �� %� � %� � #! #!( ∀& ∀� ∀∃
∀!� � #�( �#! � �∃ ∀� �� %� � %� � #! #!( #( ∀� ∀!
∀!# � #�% ��∀ � �∃ ∀� �� %� � %� � #! #!( �# ∀� �#
∀!∀ � #�( ∃∋# � �∃ ∀� �� %� � %� � #! #!! ∋� ∀� ##
∀!! � #�( ∃## � �∃ ∀� �� %� � %� � #! #!! ∃& ∀� �%
∀!( � #�( (∃� � �∃ ∀� �� %� � %� � #! #!! &! ∀� #&
∀!% � #�( #∋∃ � �∃ ∀� �� %� � %� � #! #!! %# ∀� !∀
∀!& � #�( �&∃ � �∃ ∀� �� %� � %� � #! #!! !∋ ∀∋ (∀
∀!∃ � #�( ��% � �∃ ∀� �� %� � %� � #! #!! ∀& ∀� ∀% 
����3 �
∀!∋ � #�% (�� � �∃ ∀� �� %� � %� � #! #!! #! ∀∃ ∃∀ �(% �
∀!� � #�& ��� � �∃ ∀� �� %� � %� � #! #!! �� ∀∃ ��
∀(� � #�& ∃∃# � �∃ ∀� �� %� � %� � #! #!∀ ∋∋ ∀& ## 
�����
 �
∀(# � #�% �∀# � �∃ ∀� �� %� � %� � #! #!∀ ∃% ∀& ∋!
∀(∀ � #�% %�� � �∃ ∀� �� %� � %� � #! #!∀ &! ∀∃ #! 
����3 �
∀(! � #�∃ ∀%! � �∃ ∀� �� %� � %� � #! #!∀ %� ∀% ∀% 
�����
 �
∀(( � #�( ∀&∋ � �∃ ∀� �� %� � %� � #! #!∀ !∃ ∀∋ ## 
����3 �
∀(% � #�& ��∀ � �∃ ∀� �� %� � %� � #! #!∀ ∀% ∀& #&
∀(& � #�& ∋�% � �∃ ∀� �� %� � %� � #! #!∀ #∀ ∀% ∀!
∀(∃ � #�∃ ∀%� � �∃ ∀� �� %� � %� � #! #!∀ �� ∀( ∃(
∀(∋ � #�∋ ∃## � �∃ ∀� �� %� � %� � #! #!# ∋∃ ∀! #&
∀(� � ##� !#! � �∃ ∀� �� %� � %� � #! #!# ∃( ∀# (!
∀%� � ### ∀∀∋ � �∃ ∀� �� %� � %� � #! #!# &∀ ∀� !�
∀%# � ### ��& � �∃ ∀� �� %� � %� � #! #!# (� #� %�
∀%∀ � ##! #!∃ � �∃ ∀� �� %� � %� � #! #!# !∃ #∋ ∀!
∀%! � ##( #∀∋ � �∃ ∀� �� %� � %� � #! #!# ∀( #∃ ##
∀%! #∋ �% ##% ��� � �∃ #∋ �% %� � %� � ## #!# #! #& #!
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∀%( � � �� !∀# �∋ ∃∀# %� � &�� � ��
∀%! # � �� (!∀ �∋ &%∀ %� � ∃∋� ∀� �� ! ∃� ∀ ∀∋ # %∀ ∃ %� ∃ %%
∀%∀ ∀ #� �� (#� �∋ %∋� %� � ∋!� !� �� & &( ! �∋ ∀ && #! ∀∋ #! ∀∀
∀%# ! � �� &%! �∋ %�! %� # #%� #� �� ∀ ∃∀ # &! # �� % (% % (!
∀%� ( � �∋ ∋�∃ �∋ (∀∃ %� � (∃� ∀� �� ( (& ∀ &∃ # ∃∋ ∋ �# ∋ ∋∃
∀(� % � �� !∀∃ �∋ !%∃ %� � �∃� ∀� �� ! �& ∀ !∋ # %∋ ∃ �∀ ∃ ∋∋
∀(∋ & � �� �∃# �∋ ∀∋# %� � ∃�� ∀� �� ( ∋( ∀ �� # �( � &∋ � &(
∀(∃ ∃ � �� �#! �∋ ∀#! %� � ∋�� ∀� �� ( !∃ ∀ &∀ # ∃% ∋ ∃% ∋ ∃#
∀(& ∋ � �∋ ∃#� �∃ �#� %� � ∋�� ∀� �� ( (� ∀ &( # ∃& ∋ ∋� ∋ ∃&
∀(% � � �∋ ∃∀∀ �∃ &(∀ %� # �∋� ∀� �� % #∃ ! #� ∀ �∃ #� !( #� !�
∀(( #� � �∋ !%� �∃ !&� %� � ��� ∀� �� % &� ! (∀ ∀ ∀∋ ## !� ## !%
∀(! ## � �∃ ��∃ �∃ �∃∃ %� � ∋!� ∀� �� % �� ! �� ∀ �� #� �# � �∃
∀(∀ #∀ � �∃ (!∃ �& ∃∀∃ %� � ∃#� ∀� �� ( ∀! ∀ %( # &� ∋ (∃ ∋ (!
∀(# #! � �∃ �%∋ �& !∃∋ %� � &∋� ∀� �� ! ∋∀ ∀ ∀� # %! ∃ &% ∃ &#
∀(� #( � �& ∃�� �& �!� %� � &∃� ∀� �� ! ∃# ∀ ∀! # (� ∃ (! ∃ !�
∀!� #% � �& %%∋ �% &∋∋ %� � ∋∃� ∀� �� ( ∀( ∀ %( # &� ∋ (∃ ∋ (!
∀!∋ #& � �% ∋∃# �% ��# %� � ∃∋� ∀� �� ( %( ∀ ∃∀ # ∋∀ � �∋ � �(
∀!∃ #∃ � �% #�∃ �( (�∃ %� � ∃�� ∀� �� ( �∃ ∀ (( # &! ∋ #( ∋ #�
∀!& #∋ � �( &!∃ �! ��∃ %� � ∃!� ∀� �� ! �! ∀ !& # %∃ ∃ ∋∃ ∃ ∋!
∀!% #� � �( ∀(∀ �! !�∀ %� � �(� ∀� �� ( %� ∀ ∃& # ∋( � #� � #%
∀!( ∀� � �! &&� �∀ ∃#� %� � �%� ∀� �� % ∀� ! #∀ ∀ �∋ #� (� #� !&
∀!! ∀# � �! �∃∋ �∀ ##∋ %� � �&� ∀� �� % ∀% ! #% ∀ #� #� %# #� (∃
∀!∀ ∀∀ � �∀ #∋∋ �# ((∋ %� � ∃(� ∀� �� ( &∋ ∀ ∋# # ∋∃ � !% � !#
∀!# ∀! � �# %&% �� �∀% %� � &(� ∀� �� ! ∋� ∀ ∀∋ # %∀ ∃ %� ∃ %%
∀!� ∀( � �� �!& �� !∀& %� � &#� ∀� �� ! (( ∀ �& # !∋ & ∋∋ & ∋(
∀∀� ∀% � �� %%∋ ∋� ∃∀∋ %� � ∋!� ∀� �� ! �& ∀ !∋ # %∋ ∃ �∀ ∃ ∋∋
∀∀∋ ∀& � �� #&∋ ∋� !&∋ %� � ∋�� ∀� �� ( (∋ ∀ &� # ∃� ∋ �∃ ∋ �!
∀∀∃ ∀∃ � ∋� ∃!# ∋� ��# %� � ∃!� ∀� �� ( ∀# ∀ %∀ # &∋ ∋ (∀ ∋ !∋
∀∀& ∀∋ � ∋� !∋∋ ∋∋ &!∋ %� � ∃%� ∀� �� ( �∃ ∀ (( # &! ∋ #( ∋ #�
∀∀% ∀� � ∋∋ �∋( ∋∋ ∀∃( %� � ∃#� ∀� �� ( �# ∀ (# # &# ∋ �! ∃ ��
∀∀( !� � ∋∋ %�∃ ∋∃ ��∃ %� � &�� ∀� �� ! &� ∀ #& # (( ∃ ∀# ∃ #∃
∀∀! !# � ∋∋ (∀! ∋∃ &∀! %� � ∋�� ∀� �� ! ∋% ∀ !# # %( ∃ ∃� ∃ &&
∀∀∀ !∀ � ∋∃ ∀�� ∋& (�� %� � ∋�� ∀� �� ( (� ∀ &( # ∃& ∋ ∋� ∋ ∃&
∀∀# !! � ∋& &�( ∋& �∃( %� � &∀� ∀� �� ! �# ∀ !( # %& ∃ ∋# ∃ ∃∃
∀∀� !( � ∋& %�∀ ∋% ∃(∀ %� � ∃&� ∀� �� ! ∃� ∀ ∀∋ # %∀ ∃ %� ∃ %%
∀#� !% � ∋& ∀## ∋% (## %� � ∋�� ∀� �� ( ∀� ∀ %∃ # ∃∀ ∋ %∋ ∋ %(
∀#∋ !& � ∋( ∋&∋ ∋( ��( %� � ∋&( ∀� �� ( %∋ ∀ ∃% # ∋! � #% � ##
∀#∃ !∃ � ∋% �(& ∋( �∋& %� � �&� ∀� �� % �∀ ! �# ∀ �# #� �! � ��
∀#& !∋ � ∋% !∋( ∋( #∃( %� # ∀#� ∀� �� % �∃ ! %∋ ∀ !� ## �( ## ��
∀#% !� � ∋% ∀∃∋ ∋( ∀%∋ %� # �∀� ∀� �� & #! ! &∋ ∀ (% #∀ ∀∃ #∀ ∀!
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∀#( (� � ∋( �## ∋( !(# %� � %∃� ∀� �� ( !∃ ∀ &∀ # ∃% ∋ ∃% ∋ ∃#
∀#! (# � ∋% !∋∀ ∋( (∀∀ %� � �&� ∀� �� ( ∀# ∀ %∀ # &∋ ∋ (∀ ∋ !∋
∀#∀ (∀ � ∋% ∋∃∃ ∋( %�∃ %� # !∃� ∀� �� & (# ! ∋( ∀ %& #∀ ∋∀ #∀ ∃∋
∀## (! � ∋% !�# ∋( %�% %� � ∃�& ∀� �� % �& ! %∃ ∀ !∋ ## �# ## ∋∃
∀#� (( � ∋∃ �∀! ∋% !�! %� # &!� ∀� �� & &∃ ( �� ∀ &∃ #! !( #! !�
∀�� (% � ∋∃ #%( ∋& #∋( %� � �∃� ∀� �� ∃ #% ( ∀� ∀ ∋& #( !� #( ∀&
∀�∋ (& � ∋∋ �#∀ ∋& �∃∀ %� # �(� ∀� �� % %! ! !∀ ∀ ∀# ## �& ## �∀
∀�∃ (∃ � ∋∋ !(� ∋∃ ∃&� %� � %∋� ∀� �� ( (& ∀ &∃ # ∃∋ ∋ �# ∋ ∋∃
∀�& (∋ � ∋� �#! ∋∋ %&! %� � (%� ∀� �� ∀ ∋! # ∃� # #! % &∃ % &!
∀�% (� � ∋� �!! ∋� !&! %� � %∃� ∀� �� ∀ ∋# # &∋ # #∀ % &# % %∃
∀�( %� � �� &∃& �� #%& %� � %∀� ∀� �� ! �� # ∋� # ∀� & �� % �&
∀�! %# � �# %#& �� �(& %� � %∃� ∀� �� ! �� # ∋� # ∀� & �� % �&
∀�∀ %∀ � �∀ &&∃ �∀ #!∃ %� � %!� ∀� �� ! �! # ∋∀ # ∀# & �% & �#
∀�# %! � �! #!� �∀ %∀� %� � &#� ∀� �� ! #( # ∋∋ # ∀% & ∀∃ & ∀!
∀�� %( � �! �∀� �! !!� %� � %�� ∀� �� ! !� # �∋ # !∀ & &� & %&
#�� %% � �% �%% �( #∀% %� � �!� ∀� �� ( #∋ ∀ %# # &∃ ∋ !& ∋ !∀
#�∋ %& � �% (!� �( �#� %� � %∀� ∀� �� ! �� ∀ !� # &� ∃ �∋ ∃ �(
#�∃ %∃ � �& #∃! �% ∃#! %� � (&� ∀� �� ∀ ∃� # &∀ # �∋ % !� % !%
#�& %∋ � �∃ ∋(� �& (�∋ %� # !%# ∀� �� ( �∋ ∀ �� # �� � �& � �∀
#�% %� � �∃ ∋(� �∃ ∀�� %� � %(# ∀� �� % ∀� ! #∀ ∀ �∋ #� (# #� !∃
#�( &� � �∋ &%! �∋ ��! %� � %&� ∀� �� ! �! # ∋∀ # ∀# & �& & �∀
#�! &# � �� (�� �∋ ∋∋� %� � %## ∀� �� ∀ �% # ∃∃ # #∋ % ∋� % ∋%
#�∀ &∀ � #�� !�� �� &∃� %� � ∃∀� ∀� �� ! !� ∀ �! # !% & ∃∃ & ∃!
#�# &! � #�# ∀∃∀ #�� (∃∀ %� � ∋�� ∀� �� ( #∋ ∀ %# # &∃ ∋ !& ∋ !∀
#�� &( � #�∀ ∋&# #�# ∃(# %� # #∀� ∀� �� % ∀∋ ! #∃ ∀ ## #� %& #� %∀
#∋� &% � #�! &�∀ #�∀ ∀∀∀ %� # !∋� ∀� �� & ∋∋ ( #! ∀ ∃% #! ∃% #! ∃#
#∋∋ && � #�! ∃&( #�∀ ∃�( %� # �&� ∀� �� & ∃# ( �! ∀ &∋ #! (∀ #! !∋
#∋∃ &∃ � #�! ∃&∀ #�! #�∀ %� � %∃� ∀� �� ( (∋ ∀ &� # ∃� ∋ �∃ ∋ �!
#∋& &∋ � #�( %#� #�! &∃� %� � ∋(� ∀� �� ! ∋∋ ∀ !! # %% ∃ ∃& ∃ ∃∀
#∋% &� � #�% #%� #�( #%� %� # ��� ∀� �� % �& ! �( ∀ �∀ #� #∀ #� �∋
#∋( ∃� � #�% ((∋ #�( &(∋ %� � ∋�� ∀� �� ( �% ∀ �∃ # �∋ � �� � ∋&
#∋! ∃# � #�% ∀∃� #�( ∋�� %� � (∃� ∀� �� ! (� ∀ #� # (� & �∋ & �%
#∋∀ ∃∀ � #�% %#� #�( �!� %� � %∋� ∀� �� ∀ ∋� # ∃! # #& % ∃∋ % ∃(
#∋# ∃! � #�& ##% #�% ∀&% %� � ∋%� ∀� �� ! �! ∀ !& # %∃ ∃ ∋∃ ∃ ∋!
#∋� ∃( � #�& ∀&( #�% %∃( %� � &�� ∀� �� ( ∀! ∀ %( # &� ∋ (∃ ∋ (!
#∃� ∃% � #�& &(! #�% ∋�! %� � ∃%� ∀� �� ! �& ∀ !∋ # %∋ ∃ �∀ ∃ ∋∋
#∃∋ ∃& � #�∃ �!& #�& ∀#& %� � ∋∀� ∀� �� ( !∀ ∀ %� # ∃! ∋ &( ∋ &�
#∃∃ ∃∃ � #�∃ #∀� #�& %!� %� � %�� ∀� �� ! ∋∋ ∀ !! # %% ∃ ∃& ∃ ∃∀
#∃& ∃∋ � #�∃ %(( #�& ∋%( %� � &�� ∀� �� ! %∀ ∀ ## # (# ∃ �( ∃ ��
#∃% ∃� � #�∃ ∋∋∋ #�∃ #&∋ %� � ∃∀� ∀� �� ! ∋∋ ∀ !! # %% ∃ ∃% ∃ ∃∀
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#∃( ∋� � #�∋ !%� #�∃ (∋� %� � ∋∃� ∀� �� ( !∃ ∀ &∀ # ∃% ∋ ∃( ∋ ∃#
#∃! ∋# � #�∋ %�∀ #�∃ ∋�∀ %� � ∃�� ∀� �� ( %& ∀ ∃( # ∋! � #! � ��
#∃∀ ∋∀ � #�∋ !∀% #�∋ #∀% %� � ∀�� ∀� �� ∀ ∃∀ # &! # �� % (( % (#
#∃# ∋! � #�∋ �&( #�∋ ∀!( %� � ∃!� ∀� �� ∀ %& # %! # �∀ % #∀ % �∋
#∃� ∋( � #�� ∀�� #�∋ !!� %� � ∋∃� ∀� �� ( (� ∀ &( # ∃& ∋ ∋� ∋ ∃&
#&� ∋% � #�� #∃( #�∋ ((( %� � ∃!� ∀� �� ( (� ∀ &( # ∃& ∋ ∋� ∋ ∃&
#&∋ ∋& � #�� ∀�( #�∋ %%( %� � &%� ∀� �� ! ∃� ∀ ∀∋ # %∀ ∃ %� ∃ %%
#&∃ ∋∃ � #�� %�! #�∋ ∋∃! %� � ∃∀� ∀� �� ! ∃∃ ∀ ∀& # %# ∃ %! ∃ %�
#&& ∋∋ � #�� �∀( #�� #�( %� � ∃!� ∀� �� ! �� ∀ !� # &� ∃ �∋ ∃ �(
#&% ∋� � ##� ∀&∋ #�� %�∋ %� � ∃&� ∀� �� ( #� ∀ (& # &( ∋ ∀� ∋ #&
#&( �� � ##� %%� #�� ∋∀� %� � ∃!� ∀� �� ( #� ∀ (& # &( ∋ ∀� ∋ #&
#&! �# � ##� �#� ##� #!� %� � ∃∋� ∀� �� ( #% ∀ (� # && ∋ !# ∋ ∀∃
#&∀ �∀ � ### ∀&∋ ##� (%∋ %� � ∋#� ∀� �� ( !∃ ∀ &∀ # ∃% ∋ ∃% ∋ ∃#
#&# �! � ### (∃∋ ##� ∃∃∋ %� � ∃�� ∀� �� ( #% ∀ (� # && ∋ !� ∋ ∀∃
#&� �( � ### %∋! ##� �∃! %� � &#� ∀� �� ! &� ∀ #& # (( ∃ ∀� ∃ #∃
#%� �% � ### ∋�( ### #&( %� � &(� ∀� �� ! (( ∀ �& # !∋ & ∋∋ & ∋(
#%∋ �& � ### �∋( ### !%( %� � &!� ∀� �� ! (� ∀ #� # (� & �∋ & �%
#%∃ �∃ � ##∀ ∀## ### %(# %� � &∃� ∀� �� ! %∋ ∀ #% # (! ∃ #% ∃ ##
#%& �∋ � ##∀ (!∃ ### ∃!∃ %� � ∃�� ∀� �� ! ∃∃ ∀ ∀& # %# ∃ %( ∃ %�
#%% �� � ##∀ &(% ### �∀% %� � ∃∀� ∀� �� ! �# ∀ !( # %& ∃ ∋# ∃ ∃∃
#%( #�� � ##∀ ∋∃( ##∀ ##( %� � ∃&� ∀� �� ( �∃ ∀ (( # &! ∋ #( ∋ #�
#%! #�# � ##! #�∃ ##∀ !�∃ %� � ∋�� ∀� �� ( ∀� ∀ %∃ # ∃∀ ∋ %∋ ∋ %(
#%∀ #�∀ � ##! ∃(∀ ##∀ &#∀ %� # #!� ∀� �� % !# ! #∋ ∀ #∀ #� &∀ #� %∋
#%# #�! � ##! %∃∀ ##∀ �#∀ %� � &&� ∀� �� ( �∀ ∀ �% # �∃ � ∋% � ∋#
#%� #�( � ##! ∋&! ##! ∀#! %� � &%� ∀� �� ! &� ∀ #& # (( ∃ ∀# ∃ #∃
#(� #�% � ##( ∀#∀ ##! %#∀ %� � ∃�� ∀� �� ! ∃# ∀ ∀! # (� ∃ (! ∃ !�
#(∋ #�& � ##( &�∀ ##! ∋∀∀ %� � ∃∋� ∀� �� ( �∃ ∀ (( # &! ∋ #( ∋ #�
#(∃ #�∃ � ##% #!∀ ##( #∀∀ %� # �#� ∀� �� ( �∀ ∀ �% # �∃ � ∋% � ∋#
#(& #�∋ � ##% �∀% ##( (∀% %� � &�� ∀� �� ( (! ∀ && # ∃∃ ∋ ∋& ∋ ∋∀
#(% #�� � ##% %&∀ ##( %�∀ %� � �∃� ∀� �� ( !∀ ∀ %� # ∃! ∋ &( ∋ &�
#(( ##� � ##% ∃!# ##( ∃%# %� � �∋� ∀� �� % !& ! ∀∀ ∀ #( #� ∃! #� &�
#(! ### � ##% !&( ##( �#( %� � (%� ∀� �� ! �! ∀ !& # %∃ ∃ ∋& ∃ ∋!
#(∀ ##∀ � ##& ∀&& ##% �∃& %� # #�� ∀� �� ( %# ∀ ∃# # ∋� � �∀ ∋ �∋
#(# ##! � ##& !%! ##% ∀!! %� # #∀� ∀� �� & !% ! ∋# ∀ %( #∀ ∃# #∀ &∃
#(� ##( � ##& %#& ##% !�& %� # #∀� ∀� �� & #& ! ∃� ∀ (& #∀ !∀ #∀ ∀∋
#!� ##% � ##& %∀∋ ##% %%∋ %� � �∃� ∀� �� % ∃% ! (% ∀ !� ## %� ## (&
#!∋ ##& � ##& %&� ##% ∃#� %� � ∋%� ∀� �� % �# ! �� ∀ �� #� �# � �∃
#!∃ ##∃ � ##& %∋& ##% ∋∋& %� � ∃�� ∀� �� ( ∀& ∀ %& # ∃# ∋ %! ∋ (�
#!& ##∋ � ##& !%( ##% &�( %� � ∃%� ∀� �� ! �� ∀ !� # &� ∃ �∋ ∃ �(
#!% ##� � ##& #∀# ##% !∀# %� � ∋�� ∀� �� ( ∀& ∀ %& # ∃# ∋ %∀ ∋ (�
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#!( #∀� � ##% ∋∋∋ ##% �∀∋ %� � ∋&� ∀� �� ( %& ∀ ∃( # ∋! � #! � ��
#!! #∀# � ##% (&� ##( ∃(� %� � ∃∀� ∀� �� ( !% ∀ &# # ∃( ∋ &� ∋ &%
#!∀ #∀∀ � ##% #&# ##( &(∀ %� � %#� ∀� �� ! (# ∀ �( # !& & ∋# & ∃∋
#!# #∀! � ##( !∃& ##! &&& %� � ∃#� ∀� �� ! !∋ ∀ �! # !% & ∃& & ∃∀
#!� #∀( � ##! &∃∀ ##∀ ∋∃∀ %� � ∋�� ∀� �� ( #% ∀ (� # && ∋ !# ∋ ∀∃
#∀� #∀% � ##! !�∋ ##∀ ∃!∋ %� � &&� ∀� �� ( �# ∀ (# # &# ∋ �! ∃ ��
#∀∋ #∀& � ##! ∀#∀ ##∀ %�∀ %� � &∀� ∀� �� ! %∀ ∀ ## # (# ∃ �( ∃ ��
#∀∃ #∀∃ � ##! ��& ##∀ (%& %� � &(� ∀� �� ! (∃ ∀ �∋ # !� & �! & ∋�
#∀& #∀∋ � ##∀ �∀∃ ##∀ !#∃ %� � &#� ∀� �� ! (( ∀ �& # !∋ & ∋∋ & ∋(
#∀% #∀� � ##∀ ∃%∀ ##∀ #∋! %� � %&� ∀� �� ! ∀( # �% # !� & (∋ & (%
#∀( #!� � ##∀ ∃∋∃ ##∀ �(∃ %� � ∃(� ∀� �� ! &� ∀ #& # (( ∃ ∀� ∃ #&
#∀! #!# � ##∀ ∋�% ### ��% %� � ��� ∀� �� ( %# ∀ ∃# # ∋� � �∀ ∋ �∋
#∀∀ #!∀ � ##! ∀!∃ ### ∋∃∃ %� # !&� ∀� �� & ∀∀ ! ∃! ∀ (� #∀ (! #∀ !�
#∀# #!! � ##∀ �∃� ### ∋%� %� # #∀� ∀� �� & ∋∀ ( �� ∀ ∃! #! &( #! &�
#∀� #!( � ##∀ &∋! ### ∋∀! %� � ∋&� ∀� �� % (% ! ∀∃ ∀ #∋ #� ∋� #� ∋%
##� #!% � ##! !�∃ ### ∃�∃ %� # &�� ∀� �� & ∃∃ ( �& ∀ ∃# #! %! #! (�
##∋ #!& � ##∀ ∀&� ### ∃&� %� � %�� ∀� �� % ∃∋ ! (∃ ∀ !# ## %% ## %#
##∃ #!∃ � ### �!∀ ### ∀∀∀ %� � ∃#� ∀� �� ! !! ∀ �� # !! & && & &∀
##& #!∋ � ### !!! ##� &∃! %� � &&� ∀� �� ! ∃∃ ∀ ∀& # %# ∃ %( ∃ %�
##% #!� � ### �∋� ##� #∀� %� # ∋&� ∀� �� & �! ( #& ∀ ∃∃ #! ∋& #! ∋∀
##( #(� � ##� ∃∋# #�� %∃# %� # ∀#� ∀� �� ∋ (( % �∃ ! !∋ #& ∋� #& ∋%
##! #(# � #�� %∀� #�� �∀� %� � %�� ∀� �� ( ∃� ∀ ∋∀ # ∋∋ � (# � !∃
##∀ #(∀ � #�� &∋( #�∋ (∀( %� # ∀&� ∀� �� ( ∋( ∀ �� # �( � &∋ � &(
### #(! � #�∋ ∋∋� #�∃ ∋!� %� # �%� ∀� �� & !% ! ∋# ∀ %( #∀ ∃# #∀ &∃
##� #(( � #�∋ ∀∃∃ #�∃ ∀(∀ %� # �!% ∀� �� % ∃! ! (( ∀ ∀� ## (∃ ## (!
#�� #(% � #�∃ %!� #�& &%� %� � ∋∋� ∀� �� % ∀∃ ! #& ∀ ## #� %! #� (�
#�∋ #(& � #�& ∋∀� #�& �&� %� � ∃&� ∀� �� ( %# ∀ ∃# # ∋� � �∀ ∋ �∋
#�∃ #(∃ � #�& #�∃ #�% (∃∃ %� � &!� ∀� �� ! ∋∀ ∀ ∀� # %! ∃ &( ∃ &#
#�& #(∋ � #�% !!� #�( ∋∃� %� � (&� ∀� �� ! �� # ∋� # ∀� % �� % �&
#�% #(� � #�% �#% #�( ∀�% %� # &∀� ∀� �� % ∃∀ ! (! ∀ ∀� ## (( ## (�
#�( #%� � #�( %�# #�! ∃�# %� � ∋�� ∀� �� & && ! �� ∀ && #! !# #! ∀∃
#�! #%# � #�( ∀(! #�! (#! %� � ∋!� ∀� �� ( (∋ ∀ &� # ∃� ∋ �∃ ∋ �!
#�∀ #%∀ � #�! (�! #�! ##! %� � !∋� ∀� �� ! !! ∀ �� # !! & &% & &∀
#�# #%! � #�! ��% #�∀ ∋#% %� � #�� ∀� �� # %∃ � �( � &! ! #! ! #�
#�� #%( � #�∀ ∃∀# #�∀ %∀# %� � ∀�� ∀� �� # �∃ � &( � (! ∀ #% ∀ ##
�� #% #%( % #�∀ &∋� #�∀ ((� %� � ∀(� % �� � !� � #∋ � #∀ � &# � &�
�� % ! #%( #( ∃ #�∀ !�� #�∀ !�� %� � ��� � ∃� � !∀ � #� � #! � &( � &∀
�� #%% � #�∀ ��∀ #�∀ #∋∀ %� � ∋#� % !� � %� � !% � ∀( # #∋ # #∃
�∋ #∀ ∋ #%% ∃ ∀ #�! #&� #�∀ ��� %� # #&� ∃ ∀� # �% # #∃ � ∃∋ ! �� ! ∋�
�∋ ∋ #%% #∀ #�# ��( #�# ��( %� � ��� ( ∋� � ∃∃ � (& � !# # %! # %∀
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�∋ #%& � #�# ∀#∀ #�# ∀#∀ %� � ��� ∋ �� � �� � �� � �� � �� >� �∀
�∃ ! ∋ #%& #& ∀ �� %∃& �� %∃& %� � ��� #& ∀� � �� � �� � �� � �� >� �!
�∃ #%∃ � #�∀ ∃�� #�� �∃� %� ∀ &!� ! ∋� # !∃ � ∋∀ � %% ∀ ∃% ∀ ∃(
�& #! % #%∃ & % #�∀ ∋∋! �� %∃! %� ! !#� & %� % !# ! #� ∀ #∀ #� &∀ #� &�
�& #� % #%∃ � % �� #�� �� #�� %� � ��� ! �� # !∃ � ∋∀ � %% ∀ ∃! ∀ ∃∀
�& ( #%∃ #& �� ∀∀# �∋ ∋%# %� � !∃� & %� � !! � ∀� � #! � && � &%
�& #%∋ � �� %&# �∋ �∃# %� � %�� ( �� � %! � !∀ � ∀# # �& # �%
�% #%� � #�� ∀&% �� %&% %� � ∃�� ∀� �� ! %% ∀ #! # (∀ ∃ #� ∃ �&
�( #&� � #�# �∃� #�� #%� %� � �∀� ∀� �� ( (% ∀ &∃ # ∃∋ ∋ �# ∋ ∋∃
�! #&# � #�# ∋&% #�� ∃(% %� # #∀� ∀� �� % &# ! !∃ ∀ ∀( ## ∀∀ ## #∋
�∀ #&∀ � #�∀ (∋& #�# !!& %� # #%� ∀� �� & ∀( ! ∃% ∀ %� #∀ (� #∀ (%
�# #&! � #�∀ �#! #�# �!! %� � �∋� ∀� �� % ∋& ! %# ∀ !( ## ∃∀ ## &∋
�� #&( � #�! ∀&∀ #�∀ %∀∀ %� � ∃(� ∀� �� ( ∃! ∀ ∋( # ∋� � (& � (∀
∋� #&% � #�! &#! #�! ##! %� � %�� ∀� �� ! (# ∀ �% # !& & ∋∀ & ∃∋
∋∋ #&& � #�% ∋%∃ #�( �%∃ %� # ∋�� ∀� �� & !! ! ∋� ∀ %! #∀ &% #∀ &#
∋∃ #&∃ � #�% %�� #�% ��� %� � %�� ∀� �� & !! ! ∋� ∀ %! #∀ &% #∀ &#
∋& #&∋ � #�& !�& #�% %(& %� � ∃&� ∀� �� ! (& ∀ �∋ # !� & �! & ∋�
∋% #&� � #�∃ ��% #�& �∋% %� � �∀� ∀� �� ( &∀ ∀ ∃∃ # ∋% � ∀( � ∀�
∋( #∃� � #�∃ (!∀ #�& &∀∀ %� � ∋#� ∀� �� ( ∃& ∀ ∋% # �� � %∀ � (∋
∋! #∃# � #�∋ �&( #�∃ #&( %� � ��� ∀� �� ( ∃� ∀ ∋∀ # ∋∋ � (� � !∃
∋∀ #∃∀ � #�∋ !#! #�∃ ∃#! %� � &�� ∀� �� ( #! ∀ (∋ # &% ∋ ∀% ∋ ∀#
∋# #∃! � #�� (�∀ #�∃ ∋∃� %� # &∀∀ ∀� �� & ## ! &∃ ∀ (( #∀ ∀∀ #∀ #∋
∋� #∃( � #�� (�∀ #�∋ �∀∀ %� # (∃� ∀� �� ∋ %� % #� ! (� #∃ �# #& �∃
∃� #∃% � #�∋ &∋& #�∋ #∋& %� � %�� ∀� �� % (∀ ! ∀% ∀ #∃ #� ∋( #� ∋�
∃∋ #∃& � #�� &∀% #�∋ &%( %� � �∃# ∀� �� ( �% ∀ (! # &∀ ∋ �� ∋ �%
∃∃ #∃∃ � #�� ∃#∋ #�� ##∋ %� � &�� ∀� �� ( !∀ ∀ %� # ∃! ∋ &( ∋ &�
∃& #∃∋ � ##� &&∃ ##� �(∃ %� � &∀� ∀� �� ! !& ∀ �# # !( & ∃# & &∃
∃% #∃� � ### ∃%! ##� �∃! %� � ∃∋� ∀� �� ! ∋% ∀ !# # %( ∃ ∃� ∃ &&
∃( #∋� � ##∀ &�! ### ��! %� � ∃�� ∀� �� ( �∃ ∀ (( # &! ∋ #( ∋ #�
∃! #∋# � ##! (∃� ##∀ ∋!� %� � &(� ∀� �� ! &∋ ∀ ∀# # (∃ ∃ !∃ ∃ !!
∃∀ #∋∀ � ##( (!# ##! ∃%# %� � &∋� ∀� �� ! &! ∀ #∋ # (% ∃ ∀& ∃ ∀∀
∃# #∋! � ##% !∋∀ ##( &∋∀ %� � ∃�� ∀� �� ! ∃� ∀ ∀∋ # %∀ ∃ %� ∃ %%
∃� #∋( � ##& ∃∋� ##% ∋�� %� � ∋�� ∀� �� ( !∃ ∀ &∀ # ∃% ∋ ∃% ∋ ∃#
&� #∋% � ##∃ ∃#∀ ##∃ #∀∀ %� � %�� ∀� �� ( �∃ ∀ (( # &! ∋ #( ∋ #�
&∋ #� #∋% #� ##∋ %∀∋ ##∃ ∃∀∋ %� � ∋�� #� �� # �# # #% � ∃& ! ∋∀ ! ∋�
&∋ #∋& � ##∋ (#! ##∃ !�! %� # �∀� #� �� ∀ %� # %� # �� % �# ( ��
&∃ #∋∃ � ##∃ !#( ##& &#( %� � ∃�� ∀� �� ( ∃! ∀ ∋( # ∋� � (& � (∀
&& #∋∋ � ##∃ #∃% ##& &%% %� � %∀� ∀� �� ! !% ∀ �# # !( & ∃# & &∃
&% #∋� � ##∃ !#∋ ##& %�( %� � ∃∀( ∀� �� ! (∀ ∀ �% # !∃ & ∋( & ∋�
&( #�� � ##∃ (∀% ##& %!% %� � ∋�� ∀� �� ( (( ∀ && # ∃∋ ∋ ∋∋ ∋ ∋(
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&! #�# � ##∃ !(� ##& (∃� %� � ∋∃� ∀� �� ( ∋( ∀ �� # �( � &∋ � &(
&∀ #�∀ � ##∃ !∃! ##& (∀! %� � �%� ∀� �� % �# ! �� ∀ �� #� �# � �∃
&# #�! � ##∃ #�% ##& !&% %� � ∃(� ∀� �� ( &% ∀ ∃� # ∋& � !� � ∀&
&� #�( � ##∃ #(� ##& !#� %� � ∋!� ∀� �� ( !∀ ∀ %� # ∃! ∋ &( ∋ &�
%� #�% � ##& ∋(∋ ##& ∀(∋ %� � &�� ∀� �� ! �! ∀ !& # %∃ ∃ ∋& ∃ ∋!
%∋ #�& � ##& (#∋ ##% (�∋ %� � �∀� ∀� �� ( #∋ ∀ %# # &∃ ∋ !& ∋ !∀
%∃ #�∃ � ##% �#∋ ##( ∃(∋ %� # #∃� ∀� �� % ∃% ! (% ∀ !� ## %� ## (&
%& #�∋ � ##( &∀∃ ##! �∋∃ %� � &(� ∀� �� ( �∋ ∀ �� # �� � �& � �∀
%% #�� � ##! ∋!% ##! ∀!% %� � &�� ∀� �� ! (# ∀ �% # !& & ∋∀ & ∃∋
%( ∀�� � ##! ∋(∃ ##! �∋∃ %� � ∃&� ∀� �� ! ∃( ∀ ∀( # %� ∃ (∋ ∃ ((
%! ∀�# � ##! ∃#� ##∀ �!� %� � ∃∋� ∀� �� ( ∀! ∀ %( # &� ∋ (∃ ∋ (!
%∀ ∀�∀ � ##! %�( ##∀ ∃�( %� � ∃#� ∀� �� ( #� ∀ (& # &( ∋ ∀� ∋ #&
%# ∀�! � ##! #∋( ##∀ &%( %� � %!� ∀� �� ! (# ∀ �% # !& & ∋∀ & ∃∋
%� ∀�( � ##! #&� ##∀ %�� %� � &&� ∀� �� ! ∀∃ # �& # !# & %( & %#
(� ∀�% � ##! #∃∃ ##∀ !%∃ %� � ∋∀� ∀� �� ( �∃ ∀ (( # &! ∋ #( ∋ #�
(∋ ∀�& � ##! �!∋ ##∀ ∀�∋ %� � ∋!� ∀� �� ( %( ∀ ∃∀ # ∋∀ � �∋ � �(
(∃ ∀�∃ � ##∀ �%# ##∀ �&# %� � ∋�� ∀� �� ( ∃! ∀ ∋( # ∋� � (& � (∀
(& ∀�∋ � ##∀ &!∃ ### �#∃ %� � ∃∀� ∀� �� ( (! ∀ && # ∃∃ ∋ ∋% ∋ ∋∀
(% ∀�� � ##∀ &&% ### ∃∃% %� � ∋�� ∀� �� ( (! ∀ && # ∃∃ ∋ ∋& ∋ ∋∀
(( ∀#� � ##∀ (∋∀ ### &∀∀ %� � ∋&� ∀� �� ( ∋# ∀ ∋� # �! � &! � %�
(! ∀## � ##∀ !(� ### (∋� %� � ∋&� ∀� �� ( ∃! ∀ ∋( # ∋� � (& � (∀
(∀ ∀#∀ � ##∀ !&� ### !!� %� # �!� ∀� �� % ∀� ! #∀ ∀ �∋ #� (� #� !&
(# ∀#! � ### �∃! ### #∋! %� � ∃�� ∀� �� % �� ! �� ∀ �� #� �# � �∃
(� ∀#( � ### &(# ### �(# %� � &�� ∀� �� ! ∋∀ ∀ ∀� # %! ∃ &% ∃ &#
!� ∀#% � ### �(∋ ##� #%∋ %� � ∋�� ∀� �� ( #� ∀ (& # &( ∋ ∀� ∋ #&
!∋ ∀#& � ##� �%! #�� ∀∋! %� � ∃∃� ∀� �� ( %& ∀ ∃( # ∋! � #! � ��
!∃ ∀#∃ � #�� (�∀ #�∋ (�∀ %� # ��� ∀� �� ( ∋∃ ∀ �∀ # �% � ∃! � ∃�
!& ∀#∋ � #�∋ !∀% #�∃ %∀% %� � ∋�� ∀� �� ( �% ∀ �∃ # �∋ � �� � ∋&
!% ∀#� � #�∋ ∀�& #�∃ ∃∃& %� � %∀� ∀� �� ! &! ∀ #∋ # (% ∃ ∀& ∃ ∀∀
!( ∀∀� � #�∋ ∋!∀ #�∋ �!∀ %� � ∋�� ∀� �� ! &! ∀ #∋ # (% ∃ ∀& ∃ ∀∀
!! ∀∀# � #�� ∀∀∃ #�∋ ∀∋∃ %� � �(� ∀� �� ( ∃∋ ∀ ∋∃ # �# � %∃ � %!
!∀ ∀∀∀ � #�� %∃& #�∋ %(& %� # �!� ∀� �� % (∀ ! ∀% ∀ #∃ #� ∋( #� ∋�
!# ∀∀! � #�� (&� #�∋ ∋�� %� � &&� ∀� �� ( &% ∀ ∃� # ∋& � ∀� � ∀&

∀∀! #! (& #�∋ (∃� #�∃ ∋∃� %� � &�� #! (& ∀ !! # (� � �! ( && ( &(
!� ∀∀( � #�∃ &∀� #�& �∀� %� � ∃�� & %( # #∃ � ∃� � (∃ ∀ !( ∀ !!
∀� ∀∀% � #�& &∋∃ #�% ((∃ %� # ∀(� ∀� �� % !( ! ∀� ∀ #! #� &∃ #� &!
∀∋ ∀∀& � #�( &&% #�! �&% %� � ∃�� ∀� �� % !( ! ∀� ∀ #! #� &∃ #� &!
∀∃ ∀∀∃ � #�( ∀!! #�! (!! %� � ∋�� ∀� �� ( #! ∀ (∋ # &% ∋ ∀% ∋ ∀#
∀& ∀∀∋ � #�% ∀�! #�( (�! %� � ∋�� ∀� �� ( (� ∀ &( # ∃& ∋ ∋� ∋ ∃&
∀% ∀∀� � #�( ��� #�( !&� %� � &!� ∀� �� ! �! ∀ !& # %∃ ∃ ∋∃ ∃ ∋!
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∀( ∀!� � #�( �#! #�( ∀!! %� � &∋� ∀� �� ! &� ∀ #& # (( ∃ ∀� ∃ #∃
∀! ∀!# � #�% ��∀ #�( #�∀ %� � ��� ∀� �� ( !( ∀ &# # ∃( ∋ &� ∋ &%
∀∀ ∀!∀ � #�( ∃∋# #�! �∃# %� � ∋#� ∀� �� ( ∃� ∀ ∋∀ # ∋∋ � (� � !∃
∀# ∀!! � #�( ∃## #�! ∋(# %� � ∋∃� ∀� �� ( &∀ ∀ ∃∃ # ∋% � ∀( � ∀�
∀� ∀!( � #�( (∃� #�! ∃#� %� � ∃&� ∀� �� ( (∋ ∀ &� # ∃� ∋ �∃ ∋ �!
#� ∀!% � #�( #∋∃ #�! %∋∃ %� � &�� ∀� �� ! ∃( ∀ ∀( # %� ∃ (∋ ∃ ((
#∋ ∀!& � #�( �&∃ #�! %(∃ %� # (∀� ∀� �� % %% ! !! ∀ ∀∀ ## ## ## �∃
#∃ ∀!∃ � #�( ��% #�! %�% %� � %�� ∀� �� % ∀∋ ! #∃ ∀ ## #� %& #� %∀
#& ∀!∋ � #�% (�� #�( !∀� %� # �∋� ∀� �� ( !% ∀ &# # ∃( ∋ &� ∋ &%
#% ∀!� � #�& ��� #�% #(� %� � ∋&� ∀� �� % !( ! ∀� ∀ #! #� &∃ #� &!
#( ∀(� � #�& ∃∃# #�% �∃# %� � ∋�� ∀� �� ( %& ∀ ∃( # ∋! � #! � ��
#! ∀(# � #�% �∀# #�% !!# %� � %�� ∀� �� ! ∋∀ ∀ ∀� # %! ∃ &% ∃ &#
#∀ ∀(∀ � #�% %�� #�( ∃�� %� � ∋�� ∀� �� ! ∋∀ ∀ ∀� # %! ∃ &% ∃ &#
## ∀(! � #�∃ ∀%! #�& (%! %� � ∋�� ∀� �� ( (� ∀ &( # ∃& ∋ ∋� ∋ ∃&
#� ∀(( � #�( ∀&∋ #�( ∀&∋ %� � ��� ∀� �� ∀ ∀� # !∀ � ∋∋ ( (� ( !&
� ∀(% � #�& ��∀ #�( �∋∀ %� # ##� ∀� �� ! �% # ∋! # ∀∀ & ## & �∃
∋ ∀(& � #�& ∋�% #�% &�% %� # ∀�� ∀� �� & !% ! ∋# ∀ %( #∀ ∃# #∀ &∃
∃ ∀(∃ � #�∃ ∀%� #�& &%� %� � &�� ∀� �� ( �% ∀ �∃ # �∋ � �� � ∋&
& ∀(∋ � #�∋ ∃## #�∃ ∋## %� � ��� ∀� �� ( #∀ ∀ (∃ # &% ∋ ∀% ∋ ∀#
% ∀(� � ##� !#! #�∋ �&! %� # !%� ∀� �� & #� ! ∃# ∀ (∋ #∀ !∋ #∀ !(
( ∀%� � ### ∀∀∋ ##� #�∋ %� # #∀� ∀� �� & ∃� ( �∋ ∀ ∃∀ #! %� #! %%
! ∀%# � ### ��& ### #�& %� � ∋�� ∀� �� % ∀∋ ! #∃ ∀ ## #� %& #� %∀
∀ ∀%∀ � ##! #!∃ ##∀ (�∃ %� � ∃!� ∀� �� ( ∀# ∀ %∀ # &∋ ∋ (∀ ∋ !∋
# ∀%! � ##( #∀∋ ##! %%∋ %� � %∃� ∀� �� ! %∋ ∀ #% # (! ∃ #% ∃ ##
� ∀%! #∋ �% ##% ��� ##( (�� %� � &�� #∋ �% ∀ �� # ∃( # #& % ∋# % ∃∃

� ∋�∀ ������� ������� ����	
 		���� ��	���� �������
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